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rµ  ٠µ  B  L g  L c  N 

000 2  7- 10 ×××× 12  1 T mm 2  cm 30  000 3  
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 �% �& ��`M� \8�� �� �#$�%& %��� \ > H�X D��1 �
 %�6�25/0   �% �$M(� *�)�<� F D��1 �
 �� G$
 %�6�

 ��, ��?�� 9�� 9�> A��� 9)�$� �� ��� �� /�    .25/0  
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 A �25/0  �� = �� = 1		T 

5/1  

25/0  
� =
��



�

=
١

١٢		١٠×	�٧
= 833333/3			A/m	

25/0  H� =
��



�


�

=
١

١٢		١٠×	٢٠٠٠×�٧	
= 416/66	A/m 

5/0  θ = H�	l� + H�	l� 

θ = (416/66	 × 30 × 10�2) + (833333/6 × 2 × 10�6) = 1791/6	A 

G25/0  � =
�

�
=

1791/6

3000
= 0/6A 

15  ��� - �     ����-  C��	m=1)       ("- 6-3=3       +-  8-6=2       k -  7-2=5                 I��225/0  25/1  
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��� -25/0   ! =
"#$%

&'
=
١٩٥٠٠

٣٩
= 500A 

75/2  

5/0  I) =
*+

,-.,/01
=
٥٠٠

٥٠٠
= ١A 

25/0  I2 =	 I3 + I) = ٣٩+ ١ = ٤٠A 

5/0  45 =  ! + �5�5 + 6 = ٥٠٠+ (٠/١ × ٤٠) = ٥٠٤  V 

5/0–ب   7�8 = �5�5
٢ + (�9 + ����)		�9

٢ = 160 + 500 = 660 W 

25/0  ∆P = 	∆P	
�� + P�< = 1840 + 660 = 2500W 

25/0  P=> = P?<@ + ∆P =19500+2500=22000  W 

25/0  
A =

7B8C

7DE
=
١٩٥٠٠

٢٢٠٠٠
= ٠/٨٨ 
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7B8C  25/0   - ا�� = ١٣ × ٧٤٦ = ٩٦٩٨ W 

25/2  

25/0  P�?>F = 7B8C + 7GH� + 7�BIH = ٩٦٩٨+ ٨٠٠+ ٦٣٢ = ١١١٣٠  W 

5/0  T2 =
٦٠	KLMNO

٢P	>
= ١٠١/١N.m 

I2  25/0 - ب = I3 =
KLMNO

QR
=
١١١٣٠

٢٢٠
= ٥٠/٦A 

5/0  P�< = (R2 + RT)I2
٢ = (٠/٣+ ٠/١) × ٥٠/٦

٢
= ١٠٢٤/١W 

25/0  7DE = P�?>F + P�< = ١١١٣٠+ ١٠٢٤/١ = ١٢١٥٤/١W 

25/0  A =
7B8C

7DE
=

٩٦٩٨

١٢١٥٤/١
= ٠/٧٩ 
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